83-115 — homn7 "M — 2 xnaIT? |N2n

JDI7RWUN 7 7Yy ' 22 2w 9D pwn NI ATY NN 7 :NImo |nan Jyw 3 nann |t

.y(O):% alirhahyl y':x(y—ys) 2" Nno Ix¥n .1

Y= Xy =—xy® 1M1 nRiwn i

=3\,

2'=-2y% :_—fy' P zZ=y? awm
y

z
L2+ 2XZ =2X M —2—xz:—x pY;

NI MINNOI [IWKRY 1ToN N'IXYZ YT jamd It

—IZxdx ( IZxdx ) _x2 X2 —x? X2 C
z=e 2xe’  dx+C |=e 2xe* dx+C|=e" (e* +C|)=1+
J (J J=e (e 4C) =12
1:— D 727N y(O):1 mw o,y = ! 27
4 2 1+ &
e
y= Y]
1+%




.¥y(0)=1y'(0)=1 o"pnn y"=y'y 2"m7 |nno Ixxn .2

NINTYNN ATO DX T ,V'91M 11'R X NINYNNWY |II'D

y"=p'(y)y' P y'=p(y) notpn R0 N9 MWW 1D P YRS D'WUONN 1R

p'(Y)=y P, p'p=py 7apu1"mmaam

p(y) = % y?>+C myan |xon
1 1 2
Y =p(y) :Ey +C nxuwnn N 0"pn [Nnon 2
1
= 5+C 1 72720 X =0 2% ;M1 wnnwn'? 20 nyd

1
AT ARNWN T, Y ZE(y2 +1) NNIYNN [NNS NKX 0'YONN 11X |3I7

1
Y+l

dy = %dx 22711 DINWNN NTI9N DK Y¥I)
1

.arctan(y) = > X+C » 7apa n'¥1a01R nuv

.C =% i arctan(1)=C 2apn, x =0 1w ,ima wnnw 2y

.y=tan (§+%j 12'N '910N |INN9N 2"Nho




NINAN Y TAN NDAYNAY [NND IX¥n .3

yl':y2

¥:(0)=2,y,(0)=0 o"mn { .
Y. =Y,

01 = -
.A:(1 Oj WD Y'= Ay mixnn X'n"Tnn

1 1
.—1 y"v7 D'xnnn ( J v'n, 1 y"v? o'xnnn [J V"l DY N1'0d7 nXMLVN It

v X 1 -X 1
.y=ce 1 +C,€e 4 NID NN |27

2 1 1
.C,=C,=1 " =C +C 1 7211 N7NNNN 'RIN DK 2'¥)
1 2 O 1 1 2 _1

=e*+e* 1 1
Y NNNX D', h =e*| |+e7" >"no |dY
y,=e"—e”" Y> 1 -1




yl(O):lv yz(o):]- {yl":yz
o"pnn A

y,'(0)=1y,(0)=-1 Y:" =Y

0 1 . -
.DTIZ 9'won nx"unn NNIR , A = [1 0 AWK Y'= Ay nixnn X0 " Tn oyon

vt ay=at[H=t[H ooam y=1[
y = 1,Y— 117 lanrny— 1nx:nx

- 1
Y= (CleX +c2ex)(1] nIxnn XN 90 nnon o 7apa, U= f 2"mn nx amet 'y D7

y'=f" 1 Ay = Af 1) f 1 i y=f 1
Y= 1) y= 117 1 >MNn y= 1 21 OX ,NNIT |91

NIXNN XN 7790 [Nnon o 7apa, U =—1f "mn nx unoY ' P

-y =(c,sin(x) +c, cos(x))(_llj

1 1
y= (CleX +c,e% )(lj +(c,sin(x) +c, COS(X))(_J 12'n 3" TAY 7900 nnen >"no P

Yy, =Ce* +C,e " +¢,Sin(x) +c, cos(x) .
J
Yy, =Ce* +¢,e " —c,sin(x) —c, cos(x)

X —X

y—e—+e
2 2

+sin(x)
910N |NNS5N NX '71|7]I N7NNNN 'XKIN DX 2'¥)

X —X

y—e—+e
2 2 2

—sin(x)




x?+1
YED =1 o ———y'=-1"m7|nnoixxn 4
3X° +2xy

(3x2 + 2xy)dx+(x2 +1) dy =0 i (x2 +1) dy = —(3x2 +2xy)dx "N DXYA IT
P, =Q, hwxo npmim x'n Pdx+Qdy =0 1" ' 1pn

. Py =Q, =2X " 72t PR ,NT NN
U(x,y)= J' Pdx = J.(sz + 2xy) dx = x* + X2y +c(y) n'¥1a0x vy 7
XE4c(y)=x+1pa U, =Q nw>

c(y)=y puc'(y)=1p7
X+ Xy +y=C nnmon nxiwnn nx 0"z "M nne 7, U (X, Y) = X3+ X2y +y 2"no

.C=1p7 -1+1+1=C o %pn x=-1 p7nnnn 'xan NX ')

3

Y =77 10 9on jnnon >'no1 X+ y(x* +1) =1 T2
X"+




.y(0)=1,y'(0) =0 o jmn y":(2+4x2)y A"y |Nno Ixxn .5

00
.y =Y a,X" NIprn 1107 AW [NN9 won
n=0

.8, =13 =0 D owTr nx "7NNnN 'Kann

NNNYNN DX 727221 NIPTRN 11V DX 1" TN 2]

in(n ~1)a x"? = Zianx" +4ianx”+2
n=0 n=0

n=2

(n+2)(n+1)a,,,x" = 2?:anxn +4§:an_2xn > 72731 D'OPTI'RN X T'T)
n=0 n=2

s

=
Il
o

2a, +6a,x + i(n +2)(n+1)a,,,x" =2a,+2a,x+ Zianx” +4ian72x” 127

n=2 n=2 n=2

:D'NTPN NRIYA Y¥I)
.a, =1 p% 2a, =23,
a, =0 p7 63, =23,
.(n+2)(n+Da,,, =2a,+4a, , D o"pnn N =2 DY

JI'PINN DX NI7A% Man 7y 2

.0'0OONXNN D'AIT 'XN D'TNN D nwK

= i D 77 nav
la'8 241'-- | )

o~

1 1
LAy, =m 90 j9xal a, =E,a6 =

X2n

y :z =e(X ) NID [INN9N 247

= h!




